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SLC-135-A

B.Com. Part-1II Due of Part-I (Supplementary)

Examination, 2022

(For Non-commerce Students Only)

BOOK-KEEPING
Paper - 1II
Time : 1% Hours | [ Maximum Marks : 50
Section—-A (Marks : 1 x 10 = 10)

Note —

Note —

M —

All ten questions are compulsory (Answer limit 50 words). Each question
carries 1 mark.

(Tus—3) (3® : 1 x 10 = 10)
Tft T|@ wyq rfad ¥ (SW-Hm 50 IsT) | YAk UYH 1 31 1 T
Section-B (Marks : 4 x 5 = 20)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 4 marks.

(Tus-a) (3T : 4 x 5 = 20)
g § ¥ sl ure 7o & S AT (ST 200 ¥E) | TEE U9 4 37
H FI

Section—C (Marks : 10 x 2 = 20)
Answer any two questions out of four (Answer limit 500 words). Each
question carries 10 marks.

(T@ue-|) (3 : 10 x 2 = 20)
gﬂﬁ@rﬁﬁﬁa‘ruﬁ%ww (ST-Hr 500 ¥17) | T&F T 10 37F

|
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Section-A
(TUs-3)
1. (@ Define Book-keeping.
T 1 1Y T i |

(i)  If capital of Mr. Ansh is ¥ 40,000, Creditor ¥ 20,000 and Bank Loan

T 10,000, calculate total assets of business.

afg ot 3791 FT GSTt T 40,000, TSR T 20,000 T Sk %97 T 10,000 &, O AR
1 A FefaAr fhad g 2

(ii1) What is an Current Account ?

e T RS #ed © 2

(iv) What do you mean by Average Due Date ?
stea <= fafa & ema == w9ea ¥ 2

(v)  What is the relationship of Accounting with Economics ?
AGTHT HT AU & WY F T ¥ ?

(vi)  What are the objectives of preparing Trial Balance ?
TAIS AN F FM IJIA T ?

(vii) What do you mean by Joint Ventures Account ?
T 9Ed T ¥ ST F4 gHe § 2

(viii) What is Red Ink Interest ?
A TR S T ?

(ix) Explain the Matching Concept.

e+ STaYROT $ THET |
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(x) A, B and C are partners in a firm in the ratio of 4 : 3 : 2. C retires from
the firm and the remaining partners distributed his share amongst
themselves equally. Calculate new profit sharing ratio of remaining partner

after retirement of C.

T FHHA BIC4:3:2% 0 § @y died &1 C ¥ ®H F ™
TR0 X e 2R SHehT feem 9 WEieRl 3 sSsR-s_eR s feran) C & staehmn
F OE I GEER H T Ay {9 S A it |

Section-B
(@ue-a)

2. What do you mean by Accounting Conventions ? Explain briefly some important

accounting conventions.
AGHT TS § T 1 THe § 2 WY H AW h HY Hewu WERs ®
UM i |
3. Prove that the accounting equation is satisfied in the following transactions :
(1) Pawan commenced business with cash ¥ 60,000
(ii))  Bought furniture ¥ 5,000 on credit from Varun
(ii1)  Cash purchases ¥ 20,000
(iv) Bought goods worth ¥ 10,000 from Suresh.
fag iR f& frafafed sresdl § dREiwT T S0 3 ©
(i) "= 7 T 60,000 ¥ AR IRF TR
(i) @%T ¥ T 5,000 FH FAER IUR G
(iii) g 7 BRIET 3 20,000

(iv) T ¥ T 10,000 F A SUR TR
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4. From the following particular, prepare Trading Account for the year ending

31st March, 2022 : (€9
Opening Stock 24,500
Cash Purchase 86,300
Credit Purchase 2,74,650
Purchase Return 13,400
Sales 6,27,480
Sales Return 18,900
Carriage Inward 8,600
Motive Power 5,750
Closing Stock 32,200

=1 foarelt &) e & 31 9, 2022 T T9 B 9 99 & fdU SR Sl 99

)
JRftyes fae 24,500
RETEER 86,300
JUR A 2,74,650
ERlCIR| 13,400
fawa 6,27,480
ICERECIRE] 18,900
EE ST AIST 8,600
IR ICH| 5,750
sifem Tefemn 32,200
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5. Describe various kinds of Bills of Exchange.
fafra foa & fafvm ywri &1 avfa wifsw)

6. Calculate average due date from the following information :

Date of Bill Term Amount (%)
10th August, 2021 3 months 6,000
23rd October, 2021 60 days 5,000
14th January, 2022 60 days 2,000
8th March, 2022 2 months 3,000

1 9= & omaR W S e fafy 3w st

foe = fafer sty it R)
10 eFr, 2021 3 W 6,000
23 FRER, 2021 60 fe= 5,000
14 SHeRT, 2022 60 fea 2,000
8 =, 2022 2 HEN 3,000

7. Distinguish between Consignment and Joint-venture.
0T TH HIHR TeE H SRR HIC
8. Briefly explain the item which are included in Trading and Profit & Loss

Account.
Y | IR T -8B ©d § G s SH arell #el sl SHHART |
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Section—-C
(@ues-—|)

9.  Prepare bank reconciliation statement as on 30th June, 2021 from the following

information :
(1) Credit balance of Pass Book was ¥ 10,800

(ii))  Cheques sent for collection into Bank ¥ 10,000 out of which cheques for

% 12,000 were not yet collected.
(ii1) Cheques issued but not yet presented for payment of ¥ 1,500.
(iv) Interest allowed by Bank on deposit ¥ 350.
(v)  Bank charged as incidental expenses I 25.
frefafed gemel & 30 SH, 2021 1 TF 9% IHHA foero TR T
(i) 9= g% H wfse I T 10,800 Tl
(i) % # T 10,000 % =% GUeW & fog 491, Afra 1eft 9k T 12,000 & A% Gufea
TE T
(iii) ¥ 1,500 &% 9% =R {53 73 afea ooft 9% 9% yam & fou wwga wogul
(iv) &% # s | == fear T 3501
(v) 9% § YYR Yo & T 25 T
10. Write a note on ‘Personal Interested in Accounting’.
TEeRe § wfE TR 9 @fkEl’ | T e fate )
11. What is Realisation Accounts ? How does it differ from a revaluation account ?

TH S WA ¥ ? I8 T O ¥ e yeR = ® 2
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12. Journalise the following transactions in the Books of Ram Ltd :

2021 )
March, 1 | Started business with Cash 45,000
7 2 | Goods Purchased 25,000
7 3 | Purchase of Furniture 5,000
7 6 | Goods Sold 3,000
” 9 | Goods Sold to Seeta 5,000
” 10 | Goods Purchased from Ganesh 10,000
” 13 | Cash received from Seeta 2,500
” 25 | Rent Paid 2,000
7 28 | Cash Deposited to Bank 5,000
7 30 | Salary Paid 6,000
frefafe =eerl &1 SHa gfafeal ™ fafiees « gt § <fse .
2021 ®)
A, 1 | Tee § SR 9 R 45,000
72 | W eRie 25,000
” 3 | weR BlE 5,000
” 6 | W S= 3,000
” 9 | Hial A S 5,000
” 10 | O | A 'li|l 10,000
? 13 | | | TFohs urw TR 2,500
” 25 | fwun gewen 2,000
? 28 | Sk H TS S HUS 5,000
” 30 | SdT gwEn 6,000
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